Part One

The mystery word is

CZECHOSLOVAKIA

and the letter which appears after this word is X.

The first clue is X

Part Two

The melody identical to the original melody is number

3)
Melody 1 is missing the time signature.
Melody 2 is missing the Bb in the second bar.
Melody 3 has a quaver rest in the last bar instead of a crotchet rest.
Melody 4 has a single bar line at the end instead of a double bar line.
Melody 6 has a different pitch (last quaver second bar) note F should be note G.

Part Three

The final answer is

6

The answers for each equation are given below:

1+2-Y%+%+1+4-2-1+4-6=3
A+2+Y%+Ys+Yh-Yi—2-1+4-4=4
2+41-2+4+Y%h+Y-1-Y%—-Y—-2=2
Yo+ 1+4-2+%+2-1-3+2+2=6
1+1%+%+4-2-1+2+4-2-4=4
2+1+1-1%+%+4+1-4-2+1=3
4+6+1-Y—4+%-4-1+42-2=2
1Y+ Ya+ Yo Ys+ 2-Yo+ 4-Y%—1-2=4

The final answers 3+ 4 +2 + 6 + 4 + 3 + 2 = 24 divided by the last answer 4 = 6.



Part Four

The countries related to each composer are:

Frederic Chopin Poland
George Gershwin America
Igor Stravinsky Russia
Joaquin Rodrigo Spain
Giacomo Puccini Italy
Claude Debussy France
Wolfgang Amadeus Mozart Austria

The German word for song is Lieder.

The Operais P A R S | F A L written by Richard Wagner

The fourth clue is

R

Part Five

The years related to each composer are:

Johann Sebastian Bach 1685-1750 65 years old
Joseph Haydn 1732-1809 77 years old
Johannes Brahms 1833-1897 64 years old
Dimitri Shostakovich 1906-1975 69 years old
Edward Grieg 1843-1907 64 years old
Wolfgang Amadeus Mozart 1756-1791 35 years old
Franz Liszt 1811-1886 75 years old
Ludwig Van Beethoven 1770-1827 57 years old

The two composers who died the same age were

Johannes Brahms (64) and Edward Grieg (64)

The fifth clue is:
32



Part Six

1) How many movements does a typical symphony have? 4
2) How many instruments are there in an ‘octet’? 8
3) How many symphonies did Johannes Brahms write? 4

The Sixth clue is:
2

The correct combination to complete the puzzle is:

X56R322



